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1.B

2.D
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BTl £ B=2D.

5.5%. (1)IEW . KA CE=BF,
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AB=DC,
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(2)H(1),f% AABE= ADCF.

BTl £ AEB= /£ DFC=30°.

firPA £ BAE=180°- £ B- L AEB=
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A5 AABCx ADBE,
FrA £ ABC= £ DBE.
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1E AABE MIADBC W,

AB=DB,

L ABE=/DBC,
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1.C 2.C 3.40°
Af&.KH BDLAC, £ CBD=30°,
Jr Lk £ BCD=180°-90°-30°=60°.
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BTl £ ADC=180°- . DAC- 2 ACB=
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(BN AABC =313 R4 48%,

Lk m=4.
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5.106°

% 2 RE
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(2)HH £ ACB=90°, 2 CBE=65°,
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N A N LEFD = /DAC + LAEB,
LADC=/ABC+/BAD, /AEB=/ ABC,

ftLA £ EFD=/ ADC.
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WEQ@, BN L1=2£2+LF=
LB+ /L E+/LF, L1+ /ZA+2C+ /D=
360°,

L ZA+ 4B+ /4C+ 4D+ LE+
£ F=360°.
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